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Date

Topic: Factoring Polynomials - Worksheet T

Factor the following:

7

10-

m? - 49 =
x2 - 16 =
2(p-q) - 6a(p-q) =
Fy(x-2y) - 1(x-2y) =
(x-Y)(5x+2)-(x-y)(x+6) =
X+ 4x + 3 =
7(x-5y) + 2a (x-5y) =
2(2x-3y) -14(2x-3y) =
X+ 16x + 64 =

4xy3 - 12y2 =
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Topic: Factoring Polynomials - Worksheet 2

Factor the following:

7

10-

y2 - 36 =
z2 - 87 =
S(p-a) - Sa(p-q) =
6y(x-2y) - 2(x-2y) =
(x-y)(Ix+4)-(x-y)(x+4) =
5% - 30x + 40 =
9(x-3y) + 4a (x-3y) =
6(4x-5y) -16(4x-5y) =
X+ 3x - 18 =

6xy3 - 36y2 =
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Topic: Factoring Polynomials - Worksheet 3

Factor the following:

7

70-

x2 - 25 =
X2 - 64 =
7(p=q) - 7a(p=q) =
8Yy(x-3y) - 4(x-3Y) =
(x-y)(10x+2)-(x-y) (x+2) =
X -6x+8 =
5(x-7y) + 6a (x-7y) =
2(6x-9y) -12(6x-9y) =
S7XR - 14Xy + 2187 =

S5xy3 - 45y2 =
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Topic: Factoring Polynomials - Worksheet 4

Factor the following:

7- k2 - 76 =
2. jQ -9 =
3 5(p-q) - 10a(p-q) -
. 3y(x-dy) - 8(x-4y) -

5 (xy)(12x+2)-(x-y)(x+6) -
6 -43y? + 387y =
7 7(x-5y) + 3a (x-5y) =
& E(3x-2y) -6(3x-2y) =
9- 33p° + 363p =

10- 7xy3 - 27y? =
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Topic: Factoring Polynomials - Worksheet 5

Factor the following:

7

10-

n? - 4 =
a2 - 100 -
2(p-q) - 15a(p-q) -
6y(x-2y) - 9(x-2y) =
(x-y)(TTx+4)-(x+y)(x+4) =
2 - 3s5-70 -
9(x-3y) + 5a (x-3y) =
7(4x-6y) + 5(4x-6y) -
612 + 17b + 12 -

9)(y3 - 45y2 =
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